%476 BER7FIFL7ZINIRFEEXRS FES B & M| 75Thu #llicc
g K £ A7 B K £ AAF B K £ 4= d B K £ A7
1 EAR®— Irthay 73 (35,38) 12 & BT FhFnvy 84 (43,41) 82 R IERE Tht <) 89 (41,48)
2 B b AY) Fvh 74 (39,35) EH BF ¥ 4y 84 (42,42) FEH KAt 791 447 89 (41,48)
A & TELT 75 74 (37,37) B OKE R 4 84 (42,42) 87 JII¥k BEER AV <Hhy 90 (46,44)
4 AFEE (vnT yva 15 (35,40) B AN vy~ v2/) 84 (42,42) WA 24 ~vEb Y24 90 (46,44)
5 W K¥F Funeob 76 (39,37) WA T Ay 73 84 (41,43) T E— <vv% ¥4 90 (44,46)
6 WM R 45 4Ry 77 (37,40) K BE—EF A58 Vo4 84 (41,43) 90 FEM f— 7V'4 Fu4F 91 (47,44)
PR E 0 E 7T (37,40) W FEAL A YAbm 84 (39,45) AR 2 ¥ ey 91 (46,45)
8 Ml i UHFN FH3 T8 (39,39) WA K yoeh shy 84 (38,46) Bk BEavd AV 91 (46,45) Evz
9 )| I3 kopy w2 79 (41,38) 51 AEJR e 47 ¥Aa 85 (47,38) Y%E —8 A 1AM 91 (46,45) 6 ' 686 yds m
/N IER AR <92 79 (38,41) ®E TAFTA ARy 85 (45,40) CEN GGRZNESN 91 (45,46)
i SLFA AN 4y 79 (38,41) INBE— 'Y Vay 85 (42,43) et @A 1HVF ea7 91 (44,47)
B B AT 20Y 79 (37,42) THE NS /My avt 85 (42,43) HE &A% AL 91 (44,47)
KB Bt A% <) 79 (37,42) R 40Y Y by 85 (42,43) B 22T AnY BXF 91 (43,48)
14 BEHt —2Z voF X3 80 (44,36) =H E 74V 85 (41,44) 98 WBEF CFE v/ 737% 92 (48,44) 2
A fEE LT Fva 80 (44,36) L B Pibe 3v/) 85 (41,44) B L MY YAkn 92 (47,45) I‘ )— l O
w1 BEFRI M40 B 80 (41,39) 58 FRER TLEL AN AVS 86 (46,40) 1 A Z vorb 22A 92 (47,45)
e /AL 4%4 YAk 80 (41,39) o OEFE YV A2F 86 (45,41) AR S2H A2'% 43y 92 (46,46)
HN BB AT TV 80 (40,40) T Bl My % 86 (44,42) PeflE E— Fhy <$Hx 92 (46,46) ﬁ g %
FHE & A95 48 80 (40,40) WTF % v~y pry 86 (44,42) R RTE ThnT 3V 92 (46,46)
M BF v TR 80 (39,41) B AR 4hvHE 3y 86 (43,43) 104 85K #A 8 2% <4 93 (49,44)
7R ez Aby b 80 (39,41) iR B T YAz 86 (43,43) SR B AA% (Y 93 (48,45)
KH 3 A b7y 80 (37,43) AL FasE fvve ARy 86 (42,44) 2 R EERE % 3 93 (47,46)
23 8 BEEE N #3081 (42,39) B #— <% 47 86 (42,44) 107 $57K B AX% Jaye 94 (50,44) L{t Sq zp\
fE R 47 boF 81 (40,41) KR BER A4h by 86 (42,44) 108 B ¥ 20y~ 740 95 (46,49)
$hR AT A%'% knad 81 (40,41) P ik =V 4484 86 (41,45) 109 $4K Z 22'% bvka 96 (51,45)
M4 KFE AREL 442 81 (39,42) tex K % 9% <+7 86 (39,47) Bl 3 Sny 3V7 96 (43,53) — l‘-) i 4 Ei. g&\
e 46 +h=v 3y 81 (39,42) 4 FaA A4 AR 86 (38,48) 111 X7 #8i3h 44 496 97 (48,49)
S KHE X7 A 81 (38,43) 70 Bk B MU avx 87 (45,42) 112 K% #5508 7=/ tuy 98 (54,44)
B B Iv2 pvy 81 (36,45) FEA BEE RvEb 7Y 8T (44,43) 113 Fkn B4R bI<Y Y7b 99 (48,51)
30 JIUE FHEE ATY~ bF 82 (43,39) FiE T2 (M £hat 87 (44,43) 114 K% F— 7=/ LT HA 103 (54,49)
P K TaYe vay 82 (42,40) SFROR )Y v 87 (44,43) I RS2 THY~ Y22 103 (52,51)
Fih EE T X33 82 (42,40) INEABIR Ang vyt 8T (44,43)
B A /ot 2% 82 (41,41 I w9 K 87 (43,44)
il IEFN 7% <¥HR 82 (37,45) KEF EfE IX) <¥ah 87 (42,45)
35 #HAT 3L 3VAT ay7 83 (43,40) Il BB A%< #Y7 87 (41,46)
oy B Arn'va 83 (42,41) 78 B AW v75% then 88 (47,41)
N[ T A Y 83 (42,41) FE WE Ty~ hve 88 (45,43)
RE & (42 s 83 (41,42) B 8 7hY ¥ka 88 (45,43)
=% EIvemy 83 (41,42) ARES BEE N AVvhy 88 (42,46)
KE EHE A4S <94 83 (40,43) 82 W VEE av7kny 89 (46,43)
A — 7V b 12 83 (39,44) B BL FAv< by 89 (46,43)
42 B 5F AXY< <EV 84 (43,41) B BE ~tvv v 89 (45,44)




